The laboratory work 2
1. You need to do the morphological parsing of the sentence. Please, include at least one past form of the verb and some plural forms of nouns (whether regular or irregular plural nouns). After this first step, create the finite-state automata. 
2. In the second part, you need to create the finite-state automata for the derivational morphology of at least 10 words. Two of these 10 sentences must include at least 2 intermediate states of the form change (like neutral – Adj, neutralize – V, neutralization – N or person – N, personal – Adj, personally – Adv.)
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